PHÒNG KHÁCH & PHÒNG ĀN/ LIVING & DINING ROOM	Mẫu/ Sample	Kích thước/Dimension	Vật liệu/Mtl	Đơn Giá/ Unit price	Số lượng/ Quantity	Chi phí/ Price
SOFA - 3 SEATERS - INTERNATIONAL STANDARD		2400x810x850	L SHAPE SOFA, PINE FRAME, IMPORTED FABRIC	20,100,000	1	20,100,000
KOREAN WALL PAPER		M2		466,000	8	3,728,000
CURTAIN FOR LIVING ROOM				1,200,000	3.4	4,080,000
COFFEE TABLE		1200x700x380	COFFEE TABLE ASH/ VENEER	4,700,000	1	4,700,000
CARPET		2000x2800		9,000,000	1	9,000,000
DINING TABLE		1400x900x1100	COFFEE TABLE ASH/ VENEER	10,500,000	1	10,500,000
DINING CHAIRS		430x410x830	DINING CHAIR - ASH WOOD	3,728,000	4.	14,912,000

WINE SHELVE	900x500x1400		16,077,000	1	16,077,000
DECIRATIVE WALL PAPER FROM FRANCE	M2	FEATHER.COM	1,864,000	8	14,912,000
PENDANT LIGHT FOR DINNING ROOM	PICS	BLACK METAL	4,194,000	2	8,388,000
TIVI CONSOLE & WORKING DESK	1600x450x550	OAK LEGS, MDF LAMINATE	20,970,000	1	20,970,000

SHOES CABINET	1200x1000x350	SHOES CABINET, MDF	6,700,000	1	6,700,000
MIRROR			2,097,000	1	2,097,000
BENCH FOR SHOES CABINET			3,029,000	1	3,029,000
MASTER BED ROOM					
KING BED	1890x2140x1300	MDF, FABRIC UPHOLSTERY	16,500,000	1	16,500,000
NIGHT STAND	600x450x600		3,750,000	2	7,500,000
CARPET	1600x2300		7,500,000	1	7,500,000
DRESSING TABLE & MIRROR	1200		8,10055,0	1	8,155,000
CHAIRS FOR MAKE UP TABLE			2,400,000	1	2,400,000

PENDANT LIGHTS FOR MASTER BEDROOM	ROLLING (ROMAN)CURTAIN FOR MASTER BEDROOM		1,200,000	3.4	4,080,000
400 370 00	LIGHTS FOR MASTER		2,025,000	2	4,050,000